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(3 Hours) [Total Marks : 108

N.B.: (1) Attempt any three questions from Question Nos. 1 to 3 from Section §.
(2) Attempt any three questions from Question Nos. 7to 11 from Seetion IL.
(3) Question No. 6 from Section I and Question No.12 from Section ¥ are compulsory.
(4) Figures to the right indicate full marks. .
(5) Both the section should be written in the same answer book.

Section I

1. Write anote on multi-linguism in Indian society. - 12

2. What do you understand by gender disparity ? What are the causes of gender disparity 7 12

.3. What is disability ? Explain Hearing and visual impairment in detail. 12
4. Elaborate the characteristics of Indian: Constitution. ' 12
5. Examine the characieristics of political partics inIndia. | 12
6. Write short notes on the following (An}II two) - — | 14

(a) Effects of Alcoholism.
(b} Causes of child labour.
(c) Problems of Senior Citizens.
(d) Measure to create awareness of danger of AIDS,
Section-I1
7. Explain the term liberalization ? Briefly explain the impact of liberalization Indian economy. 12

8. Classify the provisions of the UDHR aad bring out the importance of the declaration. 12

P
)

9. Discuss susiainable development. What are the causes of environmental degradation 7

10. Write anote on agents of socialization and explain the importance of values in developiﬁg 12
individual.

11. Discuss “Realistic Goal Setting” Explain the factors that influence realistic goal setting. 12

12. Write short notes on the following (any two) - 14
(a) Effects of Migration. - (¢) Farmer’s suicides.
{(b) Changing life styles. (d) Importance of developmient projects.
[TURN OVER
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MK-4112

Con. 13-16. - BCZS..S‘:‘O&;_S" Commun: cq &o’?
( 3 Hours ) | [ Total Marks : 160

N.B. : (1) All questions are compulsory.
(2) Figures to right indicate full marks.

1.  Write short notes on any four of the following : ' o 20
(a) Receiver (d) Power-point presentation
(b) Grapevine communication (¢} Selection interview
(c) Phone (f) Group discussion.
2. (a) What are the barriers to effective listening ? How can we overcome them ? 10
OR
(@) Write a-detailed note-on-any-two.types.of barriers in communication. :
(b) Discuss in detail the difference between a ‘conference’ and a ‘meeting’. 10 R
OR

(b) Write a detailed note on role and Iesponsibilitieé of ‘_Public Relations Officer’.

3. (&) Writea letter of job application in response to the following advertisement. 10
«Wanted Accountant” candidate should be graduate, smart and result oriented. Knowledge
of computer is preferred. Write to Box No. 5634, Cfo. Times of India, D. N. Nagar,
Juhu, Mumbai 400 049.
(b) Write any three letters of the following : 21 -
(@) Youhave received a complaint letter from your customer who has purchased a
“ mobile. He claims that it is not working properly.. Draft a letter rejecting his claim.
(i) Draft RTI Queries for the following situation : ““You wish to know how the funds
of ‘Durga Festival are spent.”
(i) Your customer has received 02 damaged chairs. Write an adjustment letter.
(iv) You want to purchase 75 wrist watches. Write an enquiry letter.
(v) Draft an attractive sales letter for ‘ABC Fan’.

4. Draft the ‘Notice’ and ‘Agenda’ for the fifth Board meeting of a company. Also draft resolutions 8
for any two items on the Agenda. .

5. (a). Draftareport on ‘Need of Higher Education.’ ‘ 10
- ' OR

(b) Draft a committee report for “The conditions of roads in your city.’

6. (a) Correct the following sentences (any five} :

(i) He walk daily (iv) Receiver receive message, : 5
(i) She is work as a secretary 7 (v) She Will came
(i) I drinks water ! (viy Icantalked ?
(b) Write a paragraph on any one of the following : 6
() Playing : () Reading.
OR

(b) Edit the following paragraph :
I will be come today afternoon. You keep record ready. 1 will submitted this record to
the chief eXecuTive. You Asked your supporting Staff to Be The’r. Give Priority to This.

[ TURN OVER
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() wEw g w(w fewr (wiwdiEl uE) -
(i) He walk daily
(ii) She is work as a secretary ?
(iit) I drinks water !
(iv) Receiver receive message,
(v) She Will came.
(vi) Icantalked ?
(¥) TESIE e e afesg feE -
() @
(R) WU
ORI, 1 - ¢ SO
o e W garorEiye gee fesr -
I will be come today afternoon. You keep record ready. I will submitted this
record to the chief eXecuTive. You Asked your Supporting Staff to Be The'r.
Give Priority to This. )
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( 3 Hours ) [ Tetal Marks : 160

N.B.: (1) Question No. 1 and 7 are compulsory.

L.

(2) Besides compulsory questions, answer any twe questions from each section.
(3) Figures to the right indicate fuli marks.

Sectiom I
(a) Define the following (any four) - 12
(i} Demand
(i) Promotional Elasticity of Deman
(iii) Production Function :
(iv) Economies df scale
(vi) Opportunity cost.
(b) Distinguish between (any two) — 6
(i) - Income Elasticity of Demand and Cross Elasticity of Demand. ;
(i) Secial cost and Private cost. '
(iii) Average Revenue and Marginal Revenue.
V(a) Explain different types of Price Elasticity of Demand. 8
(b} Write an explanatory note on Consumer’s Surplus. 8
(a) Explain the meaning and objectives of Demand Forecasting. 8
(b) What is the significance of Demand Forecasting ? 8
(a) State and explain the properties of Iso-quant. 8
(b} Write an explanatory note on ‘Producer’s Equilibrium’, 8
(a) Explain any two objectives of firm. | 8
(b) Explain the uses and limitations of Break Even Analysis. 8
Write short notes (any twe) — i6
(a) Determinants of Demand
(b) Law of Returns to scale
(¢) Envelope curve ' '
(d) Relationship between Total Revenue, Average Revenue and Marginal Reverue
under perfect competion. =
| TURN OVER
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(a)

(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)
(b)

Sectionr I

Define the following (any four) :—
(i) Oligopoly
(i1) - Price Discrimination
(iii} Group
(iv) Public Goods
{v) Capital Budgeting
(vi) Internal Rate of Return.
Distinguish between (any four) —
(i) Firm and Industry .
(ii) Production cost and selling cost _
(#ii) First Degree and Second Degree Price Discrimination.

Explain the features of Perfect Competition.

Explain the long run equlhbrmm of a firm under perfect competltlon. -

What are the features of monopoly ?
Write an explanatory note on kinked demand curve.

Write an explanatory note on marginal cost and cost plus pricing.
What are the causes of market failure ?

Explain the significance of Capital Budgeting.
Write an explanatory note on Pay Back Period Method.

Write short fiotes on (any two) :—

{a) TFeatures of Monopolistic Competition
(b) Features of Oligopoly

(¢) Dumping - =

{d) Production Possfmhty Curve. |

12

w <o

16



Con. 15-MK-4929-16 3

( IS} TR ) ‘
(399 ) (TgT [T : 00

TqET : (1) uyT wHiE ¢ snfy e srfyawd amRa.
() orfvad sty w@w P @R 3 wsan
(3) Todtmds siw ywie of qw eifETE.

A e
Y. () TER S ' (SOl |/R) - 23
(2) =) : -
(3) AT waew watuwdl
(¥) sevevdtes Tirasgas
(¢) Ywdle @
(g) 4 @H.
(9) B O B (HIAE FA) - &
(2) il Seaed wataewd anfr wnrfEl sl wafawar.
() amte @d enfr @ @l '
(3) wered wreft enf efwia s
2. (&) wrfear feng sefamad fofaw 99w %0 : ' ' £
(/) T ot AT D es il R e B e A CUR TR ¢
3. (31 wnml @ argmeren ard enfr sfse wwE . " C : ¢
(®) wnnfren qd Sger /AR EE we| 7 - ¢
Y. () uaIcded @) e FE w. ' | | <
() ‘senEwTEr @udle’ 9 eeviETne O T, ; . ¢
., (@) IEER YRR whEiE 9 shweR fewm. | ¢
(%) uwfreder Rveym® Iwm SR walE e w9 ¢
o eitewam Rw e (Serd @) - | | s

(a1) wofd Tl oes

(=)

s weaw fagia

(%) I TF :
- (3) wvwmmm,wm—mmmmﬁm

{ TURN OVER

®



B o
Con. 15-MK-4929-16 4
. () wHS ouEn wl (i an) =
: (3) srenfasw :
() Hw 9]
o (¥) wreabE awg
= () vigad) ATHUTH L
(g) sierla waTET © IEH.
(&)  HTH TE F (FIOER GA) -
| () oagm™ w@ onf Ium
" () Swren w@d i fagt e«
(3) wEw goft anfr fgda Ao qer S
¢. (31 o e dfnal e s |
(@) v wdfie I T JdeeR umEe e H.
o (3 wewEEh AR s 7
(@) QW awErE w3 fe.
0. (%) fimig wd foma anftn weifos fme Tgde enfemres A R,
C(9)  WOR STUINTEl SR IV -
3. (3N) mmmmm ,
- (®) UEET &% Ygde e A fwEn
33, dgwmm fowm fowr (FvraamEt d9) -
: () wedeRigEd woedst afmet
(=) Www '
(%) (S |
- (8) IET FHGEAT §9F.
_5 wokkd kR

TR

&



@

Con. 17-16. MK-4558 | -

Comm erce -~ (PYper =1L
(3 Hours) - [Total Marks : 100

N.B.: (1) Al questions are compulsory.
(2) Figures to the right indicate full marks.

Section 1

‘1. Answer any two from the following :— : ' 20
' (a) WhatisBusiness ? Explain the functions of business. '
(b) Bringoutthe classification of business objectives. Explain the social objectives
in detail.
(c) Definetheterm Business Environment. Explain the features of business environment.
@y Discuss th-e-positive-.-i-mpacts-of.globalization. S

2. Answer any two from the following :—
- (a) Whatis international trading environment ? Discuss the impact of trading blocs 20
on Indian businesses. '
(b) Distinguish between project report and feasibility report.
(¢) Discuss the problems faced by women entrepren_eﬁrs in India.
(d) Explain the factors contributing to the growth of Entrepreneurship in India.

3. Write short Notes (any two) :-—

(a) Three-fold objectives. (c) Factors determining location of business. 10
(b) Liberalization. (d) Turnaround. '
Section I
4. Answer any two from the following :— ' 20

(a) Whatis service ? Explain the importance of services.

(b) Enlist the elements of marketing mix for services. Explain people mix for
marketing services.

(c¢) Discuss various career options available in the field of retailing.

(d) What are the factors responsible for the growth of organized retailing in India ?

5. Answer any twe from the following :— 20
(a) Whatis ATM ? Explain advantages of ATM.
(b) What is logistics ? Bring out its importance.
(c) Discuss the factors responsible for the growth of E-Commerce in India.
" (d) Enlist the types of E-Commerce. Explain B2B type of E-Commerce.

6. Write short notes on (any two) i— ., 10
(a) Advantages of Credit Card (¢) BPO
(b) Non-Store Format of Retailing (d) C2CE-Commerce

[TURN OVER
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( 3 Hours ) [ Total Marks : 100

N.B.: (1) Question Nos. 1,2 and 3 of Section I and Q. Nos. 7, 8 and 9 of Section i
are compuisory.
(2) Attempt any ene question from Q. Nos. 4, 5 and 6 of Section I and any one question
 from Q. Nos. 10, 11 and 12 from Section IL. S

(3) Figures to the right indicate full marks.
Section I

1. (a) Study the world map given below and answer the following questions - .' 5

% PR
% I 2T
% 3511800
e 20

(i) 'What is the theme of the map ?
(i) . Which cartographic technique is used to represent the theme 7
@) Which country in the Asia has the highest emission of carbondioxide ?
(iv) What is the amount of carbondioxide emission in India?
(v) What is carbondioxide emission in Ausiralia 7 _
(b) Mark and name the following on the outline map of the. world :— ' 5
' " (i) Mark the Island nearer to the east coast of Africa.
() Mark an earthquake prone country located to east of China.
(f) Mark a gulf of Middle-East experiencing oil spill.
(iv) Mark Western Ghat Region of India.
(v) Mark sea coast of USA experiencing Acid rain.

5. Write short notes on any three of the following :— : 15
(a) Food-chain and Food-Web. -
-(b) Sustainable Development
(¢) Water conservation.
(@) Man-Envioronment Relationship .
(¢) The Human Development Index. (HDI).

{ TURN OVER
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Read the following ‘Case Study’ and answer the questions asked :(—

MSEZ : INDIA’S LARGEST SEZ IN LIMBO ?
The furture of India’s largest free-trade zone, the-10,000 - hectare Mumbai Special Economic
Zone (MSEZ) in Maharashtra’s Raigad District, appeared to be in jeopardy on 5th June, 2009
after the Supreme Court refused to give MSEZ more time to acquire land for the project. It
was expected to cost Rs. 40,000 crore. ' '
What is the PROBLEM ? o
First cleared in 2005, only 20% of the 10,000 hectares land; occupied by 45 villages, comprising
mostly paddy farmers; has been acquired despite getting two extensions for the acquisition by
government board. Latest dead line ends between June 9 and July 26, 2009 and it virtually
leaves no time to wrap it up. The remaining land was not acquired because of opposition from
villagers. This could seriously impact the SEZ’s fate. A MSEZ spokesperson said “the company
would decide on a course of action later.”
One-third to size of Mumbai, the MSEZ was to be built on a site close to new international
airport and the Mumabi-Pune Expressway. It was also to be connected to the metropolis by
India’s most ambitivus sea bridge, the 22-5 km trans-i larbour sea link, The Jand acquired so
far at Rs. 10 lakh per acree for fertile land and Rs. 5 lakh per acre for unproductive land, is in
the Uran and Pen talukas and is not contignous (touching or in contact).

"The road ahead : ‘ '

There are two possible scenarious. The project could be scrapped or given another push. But

that could jack up the cost from Rs. 40,000 crore to Rs. 50,000 crore. After the deadline MSEZ

would have to negotiate land transfers with individual owners.

Because the land was acquired in patches scattered apart from each other, the company can not
go ahead with the first 2,126 heclare phase. *

There are other regalatory problems. The government’s Board of Approvals can not grant it full
approval unless 90% of the land has been acquired, '

Even it MSEZ goes ahead, it would have to pay higher rates for the remaining land due to vehement
opposition from villagers who would be displaced by the project.

In a state-run referendum in September 2008, land-owners in 22 villages were said to have opposed
the land acquisition.

Also, the deadiock over the deadline stems from the fact that the Maharashtra government has
invoked the Land Acquistion Act (1 894) for MSEZ. As per this law, the transfer of ownership
must be completed within three years or the entire process lapses.

This means that the state would no longer be required to acquire the remaining land, forcing
MSEZ to approach land-owners individually and then the price for each property have to be
negotiated individually. '

Sources say that the government could techmically still announce land transfers despite farmer’s

protests. The other alternative could be to amend the faw.

The Anti-Globalisation. Front is at the forefront of anti-SE7, protests,

Will the Special Economic Zone will turn into Special Economic Groan or see the light of
the day. o :

Questions :

(1} Where is the MSEZ located ?

(2) Why the MSEZ in jeopardy ?

(3) What is your opinion MSEZ scheme 7
(4) What is Land Acquisition Act ?

19
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(a) Explain the various factors that are responsiblé for Indian Fishing. 8
(b) Discuss the major “Fishing Banks’ of the world. ) 7
(a) Explain the rising, problems of ‘Population Explosion’. 8
(b) Discuss the population distribution in India. 7
(a) Discuss about the ‘components of environment.” 8
(b) Explain briefly the ‘Renewable’ energy resources. 7
Section
(a) Mark and name the following in outline map of MUMBAI - 3

(i) Stadium in Mumbai where international crxcket matchcs are playcd.
(i) Largest Green area in Notth Mumbai. ™ =
(ifi) Controversial Dumping ground located in eastern side of Mumbai.

(iv) = The highly polluted river in Mumbai.

(v} Mark aay one ‘creek’ of Mumbai. :

(b} Mark and name the following on the cutline map of KONKAN. 5

(i) Any one ‘Hot spring’ in Ratnagiri district.

(i) Any Konkan Railway station in Sindhudurg district.

(i) Locate the Northern most district of Konkaa.

(iv) Any fishing Port of Raigad district.

(v) Any famous Hill station in Raigad district.

Write short notes on any three of the following - 15
(i) Mass Communication :
)y Medical Torism
(i) Man-Made Disaster
(iv) Acid Rain
(v) Geographical information System (GIS)

Read the following “Case Stady’ and answer the questions asked

56,000 mapourished kids died in 8 years

April 16,2812

The lack of food is rapidly killing tribal children even before they reach six, leaving 51, 4561
malnourished children dead across rural Maharashtra between 2004 and 2012

The starting revelation has once again raised a debate within the government about the need to
make higher aliocations for the health, women and child development departments, even as the
centre state schemes evolved for the tribal population, which often goes without decent two-
meals a day, appears to have remained on papers.

A senir officer in the tribal welfare departrment revealed, “The judicious utifization of funds for
the specific schemes is never lmplemented Almost 45% of the funds, which remain underutilized,
are diverted for other projects.’

Another hurdle in preventing malnourishment is the severe lack of coordination among the various
health related departments, namely ministry of health (the nodal nody) tribal ministry and women
and child development and family welfare.

[ TURN OVER
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Citing that the budget session is on, a senior minister on conditions of anonymity said, “If we
compare the child tribal deaths in 2004-05 with those in 2011-12, we can see a decline in the
numbers, from 8,003 to 2,849. What has the government worried is the speedy progress of
malnourishment cases from the raral areas to urban centers, which can be partly attributed to

*the mi gratzon for lvelitiood to cities, including outskirts of Thane, Nashik and Mumbai.”

o :'_-_iAccorde 10:the' World Health Organisation (WHO), paxameters severe underweight chﬂdren:_ _
. among the. tribals accounted for 20-3% population in the year 2011-12; This, even a§ minister

- for women and child welfare Varsha Gaikwad maintained that “Notwithstanding the reasons,

- 10.
11.

120

the- govemment is committed to eradxcatmg malnutrition with help of a sustamed long-term
programme.’ '
While issuing stern directive to the sépior bureaucrafs and ministers concerned to maximize fund

camnot afford to let such a menace in its own backyard. -

Questmns._

oLy Why do we find high infant mortality across Maharashtra 7

@Y ‘Mentionthe hiwdles faced by the- govemmenf mpreventing ma]nouml;ment m Mahamshtra. -
(3. . What i§ the main reason for sudden- decrease in numbers of child deaths between

Cnl 200442005 and 2011-2012:7. : :
()~ What is the main probiem Iaced by the women and new barn babws in rural
R Maharashtta 7 : -

(a) Explain the importance of Transpoﬁation in Trade and Commerce.
(b) Discuss the factors that influences on Development of tourism.

(a) Explain the various Natural Disasters.
(b} Discuss the causes for environmental problems,

(&) Discuss the major problems of solid waste disposal in Developing Countrxeg.
{b) Explain uny two environmental movements in India.

' utlhty for the stated purpose, chief minister Prithviraj Chavan arguﬂd that a progresswe state

SRR b
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MB.:

R T 11 - % 3 500 106 RS, 1LY
ftrom the seller and 1.75% from the buyer. Find ‘the siolnt paid by the buyer. Also find the

{b)

{c}

(d)

- {B)

(¢}

N

ey ;
' g’

e

| Md”ﬂﬁmd4,‘cdf end Stqtislical

Con. 11-16. MK-4813 T

; @c/ﬁn,‘grceﬁr

(3 Hours)  ITotal Marks : 100

1) Attempt any 2 Questions from Sec. I

2} Aftempt eny _3“ Question from Sac. i,

3) Answersto ihe Sections are to be written on the same Answer-book.
4) Alt guestion caffy M marks,

5) Figure to the _g:“gl_if indicates marks to a sub-guestion.

7 8) Graph paper witl be supplied on reguest.

7) Use of Sclentific, Handheld, Nom-programmable Calculator is afiowed.

Secion - | ‘ ‘
A peace of land was soid for Rs. 19,00,000 through & broker who recelved 1.25% commission

amount received by the seller and the broker. ,

A stzried @ stores by investing a certain capital. After 2 months he admitisd B 25 a parinst who
invested the same amount. Finding the need for mare capital for the axpansion, they invited C
info their parinership afier 4 more months on the condition that he brings In the same amount of
capital as ey had, At the end of the year when accounts were finalized, they showed a profit of
Rs. 25,200. How much was the share of each in ihe profit?

An insurance agent gets a commission of 25% on the first year's premium, 7% on the second
and third yaar's premium and 5% on the subsequent year's premivms on an insurance policy of
Rs. 30,000; the rate of annual premium being Rs, 40 per thousand. Find the total earnings of the

agent for which 5§ annual premiums have been paid.

An ariicle was sold for 2 net Re, 8,664 sfter aliowing a 15% trade discount ang a further 2% for
cash payment and the profit thus eamed was 33.28% on cost. Find the iist price and the cost

prige, -

Mr. Jitendra Shah bought 400 shares of par value Rs. 10 each at the muarket price of Rs. 24

cach. i the annual dividend distributed was at the rate of 12% find Mr. Shaiv's rete of raturn on’

investment. \

Mr. Ranlest Tikakt invesied in ‘HOFG Tax Saver Fund ~ Dividend Plan’ through & S.LP. in which
Rs. 1,000 would be invesied on the first working day after the 1% of every month, sterting June
2045, for four months. Accordingly, on OU08/18, 02/07/18, 01/08/15 and (30018, Rs.9,008,
each was invested at NAV Rs. 85.057, Rs. 66.127, Rs. §6.544 and Re. 68.299 respectively. The
ehiry load was 2,25% Find Mr. Tikai's average acquisiion cost. How does # compare with e
Arithymetic Mean of the prices? {Round off the number of units 10 3 dacimal places.}

A busisess frm produces. fwo types of producis P and Q. The average profit for the product F ig

=, Rs. 100 per fon and thet for the product Q is Rs. 70 per fon. The plant consists of thres

héurs a day. Product P reguires 2 hours in depariment A and 1 hour in department G per ton,

~ Product Q requires 1 hour in department B and 1 hour in department C per ton. Formulate this

{d)

probiem as & linear programiming problem for maxdimum profit. Do Mot Soive It
Solve the following Linear ngramméng_'Prémem Gfapﬁica!ry : C
Maximize : 5dc+ 160y | :
Subjectto x+6 <30

x+y<id

X >=fy>=i),

)

(5

&

{5)

- production departments. A, B and C. The equipment in each deparbment can be used for 8

{8)

[TURN OVER -
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(d)

@

{©)
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A watch company produces wrist watches. it invoives initialty a fixed cost of Rs. 225 lacs and a (5)
variable cost of Rs. 175 for each wrist watch. If each wrist watch can be sold at Rs. 600, find the
fofat cost function, the total revenue function and the profit function. How many wrist walches
must be produced and gold 5o that the company does not incur any loss?

if the demand function is given by p = 4 + 30 - 507, find _ {5}
) Total revenue function, ' '
iy Average revenus,
i) Marginai revenue when the demand is D.

The demand function is D = 1000 — 25° (D = demand, p = price), Findthe elasticity of (5}
demand atp=i0 :
Find dy/dx in each of the following : A : {8

(i} y=(X*-3x+5) (& +1}
).y = EeeHx+3)

A person borrowed Rs. 30,000 from two acquaintances. For one loan, he pald 5% p.a. and for )
the other 7% p.a. Afier one year, he pald totally Rs. 1600 as inferest, How much monsy did he

borow af gach rate?

The amount of Rs. 1,44,000 at 10% p.a. compound interest rate for 3 years aquels the amount {5)
of enother principal sum of monsy at 20% p.a. compound Interest rate for 2 yeass. Find the

principal sum.

A person deposits in a financisl institution Rs. 15,000 at the end of each year for 2 years. What (5)
is the sccumuiated amount at the end of 3 years taking interest compounded at 12% p.a?

A ioan of Rs. 80,000 is to be retumed in 3 monthly Insiafiments at the rate of 12% p.a. {9
compounded monthly. Find the EMI using the reducing batance mathod. Find the interast and
princips! repaymesnt for aach month. _

Section il

Distinguish batween the following - | - : @y
| {i} Popuistion and Sampie -
{ii) Parameter and stalistic
{iiiy Primary Data and sscondary Data
Tabulata the foflowing: - o

The number of students in seff financing courses in a college in the year 2012 was 510. Of these

480 were boys and the rest wers girls. In 2013, the number of boys increased by 100 and thet of.
giris increzsed by 300% as comipared fo their strength in 2012, in 2014 the total number of

students in the coliege was 7200. The number of boys being double the number of glrls

(c) Draw a Histogtam for the following data: , _ 5!
[ Marks o4 | 48 CRF) 1248 | 1620
No.Of Students | 5 10 i5 2 7
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. {8)

(&}

(¢}

- (&)

{b)

©

. (&)

(b}

©

Find Medisn and Mode for the foliowing data. (&}
Class Interval G-20 20-40 40-80 80-80 BO-100
Frequsnecy 8 12 30 20 10
Eind Coefficient of Cusrile Deviation for the following data, , (7}
Weight in Pounds a0-100 | 400-140 | 110-120 | 120-130 | 13C-140 140-150 | 150180
Na. Of People 4 6 10 10 ] § 5
Eind Coefficient of Variation for the following data. ' @)
[Hourly Wages 6-100 100-200 200-300 00400 | 40080 |
_{wRe} § ’
e - BN T 8 T B ™ ) 5
Workers
Exghain the following terme with an example. {B)
{f) Mutuaily Exclusive Events. () Exhaustive Events, (i} Indopendent Events
The probabliity that a certain news film wil get an award for its story is 0.23, the probability that £ {7)

will gt an award for its music is 0.15 while the probability that it will get an award for both 1s
0.07. What is the probability thet the film wilt got an award for

{i} at least ona of the two? (i) exactly one of the two?

The weights of 5000.N.C.C. cades are found fo be Nomnally disiributed with Mean 50 kg and (7)
S.0. 5 kg. To mprove the standard of the organization, it is decided to retaln only those having
welghts between 42.5 kg and 85 kg. Find the number of cadets that will have te be discharged
dus to this decision.(Area between z=0 and 2<15 I 0.4322 gnd ares beiween z=0 and z=3

ig 0.4987) “
Distinguish between correlation and Regression {3+3=8)
Draw & Seatter Diagram whon
Mr=1 () r=-1 () mereisno corrsliation .
Find spearnan's Rank Comelation Cocfficient for the fﬁ[iémiﬁg dats, {f
* 10 12 & 17 ig 7
Y 12 B 18 18 24 11
For & bi-variate data. B {7}
fean value of X =521 Meanvalusof ¥ =123
s.D. of X=7 SD.ofY=12

The coefficient of Comelation =r=-0.7
| Find {i} The most probable veiue of Y when A =38
{ii) The most probable vaiue of X when Y = 98

[TURN OVER
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9. (8) () Whatis a Yime Serles ? Explain its components. [llustrate. )
(b) Find 3 yearly Moving Averagss for the following data. 7
Year 3608 | 2009. | 2010 | 2011 2012 2013 2014 2015
Froduction | 68 62 61 83 65 68 63 67
(¢} Calculate Fisher's Indax Number for the following data. (7}
__ Price in Rs. Quantity
“Commodity 2610 2615 2010 2018
A 10 12 20 22
B 13 I 23 24
C 18 18 20 18
D 20 18 5 6
E 18 20 7 8
10. (&) Write the staps to draw 2 degision tree fo arvive at a decision. {c)
(b} The markeling maenager has o decide one of the fypes of shampoo (7

fo be launched under the following estimated pay offs for various levels of sales.
Pay of is in Rupees Crores

Estimated L.evels-of Sales (Unils)
Type of Shampob 15000 (51} 10660 (Sz2)j 5000 (S3)
Ega (A1) 30 15 10
T Ciinic (A9 40 5 3
Delux (Aa) a8 20

What wil! be the manager’s decision if she uses
() Maxirsin Criterion (i) Maximay Criterion {jii} Laplace Criterion

{c} The vendor can pumhasa the newspaper at & rate of Rs. 2.5 pear copy against the selling price {7}

of Rs. 4 par copy. Any unsold copy is 2 dead loss. The foliowing is the prababliﬁy distribution of -

the number of copias demanded.

Nurnber of Copzes

15

kG

17 18

Probability

0.2

0.3

0.4 0.1

How many coples should be ordered so that his expected profits will maximum?

@
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N.B. (1) From Section I Nos 1 and 2 are compulsory and atiempt any one Question
from Question Nos 3 and 4 '
(2) From Section I Question Nos 5 and 6 are compulsory and attempt any one
Guestion from Question Nos 7 and 8
(3) Figures to the right indicates fuli marks
(4) ‘Working should form the part of your answer

Section -1

The following is the Trial Balance of Mr. Gyan on 30™ June, 2015 : 18
Particulars 4 (4

Cash in Hand ' 540

‘Cash at bank 2,630

Purchases Account 40,675

Sales Account _ : 98,780
Retumns Inward Account - 680

Returns Outward Account _ 500
Wages Account _ 10,480

Fuel & Power Account 4,730

Carriage on Sales Account 3,200

Carriage on Purchase Account 2,040
“Stock Account (1 st July, 2014) - 5,760

Building Account . 30,000

Freehold Land Account 10,000

Machinery Account 20,0060

Patent Account 7,500

Salaries Account. 15,000

General Exps. Account : 3,000

Insurance Account 800

Drawings Account ' 5,245 i
Capital Account ' 71,000
Sundry Debtors Account 14,500

Sundry Creditors Account

| 6,300
TOTAL 1,76,580 1,76,580
{ TURN OVER .
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Taking into account the following adjustments, Prcpare Trading Account and. Proﬁt and Loss
Account and the Balance Sheet: e
(2) Stock on hand on 30th June, 2015 is Rs. 6, 800.
(b} Machinery is to be depreciated at the rate of 10% and patents at the rate of 20%.
(c) Salaries for the month of June 2015 amounting to Rs. 1,500 were unpaid.
(d) Insurance includes a premium of Rs. 170 on a policy expiring on 31 st December
2015. ,
{e) Wages include a sum ofRs. 2,000 spent on the erection ofa cycle shed for employees
and customers. |
(f) A provision for Bad and Doubtful Debts is to be created to the extent of 5 per cent on
~ Sundry Debtors. | : '

2. (a) Rewrite the statement given In Group A with the correspondmg most appropriate

statement from Group B
Group A ~ GroupB
AS1 * Income from investing and financing
_ activities ‘
Capital expenditure P/L Account
Revenuereceipts - Trading Account
Conveyance Major investment of capital
Gross Profit Subscription .
Receipt and Payment A/c Revenue recognition
AS9 ‘ Shorter terms of expenditure
Capital assets _ Income from operating activities
Revenue expenditure Valuation of inventories
AS2 Disclosure of Accounting policies

‘2. (b) Rewrite the following statement by using the proper choice given under the statement. g
1. Capifal Expenditure | | o
a. Shown ic Balance sheet
b. Shown in Revenue Account -
¢. Loss to a business concern
d. Intends to benefit current penod only
2. Depreciation
a. Addition to the Assets
b. Charge against profit
c. Repairs to Assets
d. Stock .
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-Cash discount
a. For delay in payment to creditors
b. For delay in receipt from debtors
¢. For prompt payments of debts
d. Forbad debts incurred

4. Sate of assets

4. Treated as sales

b. Shown in P/L Account

¢. Shown in Trading Account

& Deducted from the respective Assets in the balance sheet

5. Manufacturing Account deals with
a. All cost and expenses of manufacture
b. Finished goods and expenses with cost of manufacture
c. Capital expenditure
d Sale and purchase of assets

6. Freight paid on goods purchased is charged to
a. Profit/Loss Account
b. . Trading Account
¢. Balance sheet
d. carriage outward Account

7. Advertising campaign to launch new product
a. Revenue expenditure
b. Capital expenditure
¢. Deffered Revenue Expenditure
d. Capital Receipt

8. Sale of Scrap
- a Debit Profit & Loss Account
h. Credit Profit & Loss Account
¢. Debit Manufacturing Account
d. Credit Manufacturing Account

- [ TURN OVER
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3. State with reasons whether the fallowing items of expenditure are capital or revenue. 16
(a) A new machinery was purchased for Rs.80,000 and a sur of Rs.1,000 was spent on
it installation and erection.
(b) Premium paid on the redemption of debentures.
{¢) Commission paid on issue of debentures.
(@) Cost of air-conditioning the office of the director of a company.
: (e) Damages paid on account of the breach of contract to supply certain goods.
e (f) Cost of replacement of an old and worn out part of machinery.
(g} Repairs to a motor car met with an accident.
{h) Costof redecorating acinema hall.

4. From the following part:culars you are required to prepare departmental profit & loss account 16

for departments A & B:

Particulars Department A T ' Department B ¥
Opening stock 60,000 o 90,000
Purchases © 3,60,000 5,40,000
Sales 6,00,000 ~3,00,000
Closing stock 20,000 80,000
Salaries . - 25,000 ' 30,000
wages 12000 15,600

‘ Total ¥

Advertising expenses , ' 28,000

"~ Rent ' 20,000

General expenses ' ' : 60,000

Conveyance | 25,000

Insurance ‘ . 10,000
Postages . : : 15,000

Transfer stock worth Rs 20,000 from Dept. A to Depf ‘B.Advertising expense should be
apportioned in the ratio of sales; Rent Equally and general expenses in the ratio of 2 2 :3 between
departments A & B.Alsc prcpare General F/L Account

4o

¥

J
|
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Section -II
5. Sri. Ashutosh keeps his books by Single Entry. On 1-1-2015 his capital was Rs5.69,000. An 18
" analysis of his Cash book for the year gives the following particulars:

Debit Side T Credit Side g
Received form Sundry 60,000 Due to Bank (Jan 1) 7,400
Debtors
Paid on Capital account 5,060 Payments to Creditors 25,000

‘ General expenses 10,000
Wages 15,500
Drawings ' 3,000
Balance at Bank - 4,000
Balance in Hand 100
65,000 65,000
Particulars 1-1-2015 31-12-2015
: 3 g
Debtors - 53,000 88,000
Creditors 15,000 - 19,500
Stock 17,000 ' 19,000
Plant and Machinery 20,000 ' 20,000
Furniture and Fittings 1,400 1,400

From the above materials prepare a Profit and Loss Account for the year ended
31-12-2015 and a Balance Sheet as at that date, after providing 5% interest on capital
(ignoring payment in and drawings), 10% depreclatmn Plant, 5% depreciation on Furniture
and Fittings and reserve of 5% on Sundry Debtors.

6. (a) State whether True or False 8
(1) The consignor owns the goods until it is sold
(2) Depreciation of Branch fixed assets is not shown in the Branch Account
(3} Consignment Account is a nominal Account
(4) Goods - in - transit is the difference between goods sent by Head Office and
received by the Branch.
(5) Consignee sends the document called Accounts sales
(6) When the Branch has sold fixed asset for cash, the proceeds is remitted to Head
_ office. |
(7) Additional commission to consignee is deleredre commission.
(8) Petty expenses, paid by the Branch Manager out of petty cash, are shown inthe

Branch Account.
N [ TURN OVER
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6. (b) Rewrite the statement given in Group A with the corresponding most appropriate statement g

from Group B
' Group A Group B
Delcredre - Goods despatched but not received
% Sundry Debtors A/c Bad debts recovery commission
- Single Entry system Difference is invoice and cost price
A Gross Profit Comupission due to sales
A Branch Account Consignment '
: Account sales ™ Stock debtor system
Stock Reserve Trading Alc
Goods in transit Open balance sheet
Seller
Credit sales

@ 8%.Prepare Consignment Alc and Consignee A/c

A MJs Vidhi & CO.ot Mumbai Consigned 5000 wollen blankets @ T1200 per blanket to Samy 18
of Kolhapur to be sold on consignment Vidhi @ Co incurred 2500 for freight, ¥ 9000 for
insurance Samy paid transport charges ¥ 12,000 and received only 4800 blankets. Samy sold
4000 blankets at T 1800 per blankets and rermnitted the amount afier deducting his commission

8. M/s Vimal & Co Mumbai has its branch at Surat Goods are invoiced at 25% on cost to 16

Branch
Following are the details :
' Particulars 3
" Goods sent to branch at invoice prics 4,20,000
(Goods returned by branch (Inv.Price) 24,000
Cash sales by branch ' 6,00,000
Cash sent to branch for wages 20,000
Cash sent to branch for
advertisement expenses 40,006
Opening balance- Debtors 20,000
cash 50,000
SRR ' stock 40,000
| farniture 80,000
2 Closing balance: cash 40,000
= - stock - 10,000 -
i Credit sales 40,000
o Closing to debtors - 12,000
? Cash remitted to H.o 45'0,000

Depreciation on furniture is to be chafged 10%pa

Prepare Surat Branch Account

| f?‘B-?on//




